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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P4

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

07:20 283 150.0 0.588 F|  FuHB07:20 KEFRF (FAMEEE)
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P4 0, Day=61 (2025-06-04)
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P4

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EREE (B/R) | XS ERE
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P4

BTiE) | GEBIATK (F) | EME (EHA/&) | EBRERE (/X)) | XK R

08:00 278 150.0 0.588 =l {Ri%e08:00 B (KRAERSE)
09:00 278 150.0 0. 588 = RRi8009:00 Bzh (RAEEE)
10:00 278 150.0 0.588 =l {Ri%@10:00 B3 (RFAERSE)
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